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Math 254, Quiz #3, Summer 2012

Instructions: Show all work. Use exact answers unless the problem specifically asks you to approximate

or begins with decimal values.

1. Find the unit tangent vector for the vector-valued function #(t) = cos(t) I + 2sin(t) j + k.

What are the two possible values for the principle unit normal vector (without doing

derivatives)? What is the equation for finding the binormal? What is the binormal vector? (You

can find this without doing any calculations.)
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2. What is the equation for the curvature of the function #(t) = t21 + In(t) § + t3k. What is the

radius of curvature at the value t=1.
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